ID/IQ PROPOSAL - EMERGENCY

DATE AND TIME OF BID OPENING: OCTOBER 31, 2024 AT 2:00 PM

CONTRACT ID: D13POC.D1.5000.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TROPICAL STORM HELENE

COUNTY: BURKE, MITCHELL, MCDOWELL & RUTHERFORD

TIP NO.: NONE

MILES: N/A

ROUTE NO.: VARIOUS PRIMARY & SECONDARY ROUTES

LOCATION: DISTRICT 1 WIDE

TYPE OF WORK: EMERGENCY ON-CALL ASPHALT PAVING & ASPHALT

PAVEMENT REPAIR

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Site Development Corporation

NAME OF BIDDER

P.O. Box 397, Cliffside, NC 28024

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: D13POC.D1.5000.01

TIP Number: N/A

FA Number: Tropical Storm Helene

WBS Element: Various

ITEM	SECT	DESCRIPTION	QTY.	UNIT	UNIT PRICE	AMOUNT BID
1	SP	Shoulder Construction	5	SMI	\$13,450.00	\$67,250.00
1	SF	Shoulder Construction		SIVII	+10,10 old	407,22000
2	SP	Shoulder Reconstruction	5	SMI	\$4,720.00	\$23,600.00
3	SP	Aggregate Shoulder Borrow	250	TON	\$50.00	\$12,500.00
4	535	Conditioning Existing Base	4	MSY	\$7,195.00	\$28,780.00
5	545	Incidental Stone Base	250	TON	\$60.00	\$15,000.00
6	SP	Incidental Milling Case 1 (0 to 500 SY)	1000	SY	\$30.00	\$30,000.00
7	SP	Incidental Milling Case 2 (over 500 SY)	2500	SY	\$12.00	\$30,000.00
8	SP	Asphalt Conc Base Course, Type B25.0B - Case 1 (under 100 tons)	500	TON	\$287.00	\$143,500.00
9	SP	Asphalt Conc Base Course, Type B25.0B - Case 2 (100 to 500 tons)	1000	TON	\$178.00	\$178,000.00
10	SP	Asphalt Conc Base Course, Type B25.0B - Case 3 (over 500 tons)	2500	TON	\$173.00	\$432,500.00
11	SP	Asphalt Conc Surface Course, Type S9.5B - Case 1 (under 100 tons)	500	TON	\$300.00	\$150,000.00
12	SP	Asphalt Conc Surface Course, Type S9.5B - Case 2 (100 to 500 tons)	1000	TON	\$190.00	\$190,000.00
13	SP	Asphalt Conc Surface Course, Type S9.5B - Case 3 (over 500 tons)	2500	TON	\$185.00	\$462,500.00
14	SP	Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 1 (0 to 250 tons)	250	TON	\$300.00	\$75,000.00
15	SP	Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 2 (over 250 tons)	500	TON	\$190.00	\$95,000.00

16	SP	Patching Existing Asphalt Pavement	250	TON	\$375.00	\$93,750.00
17	SP	Temporary Lane Closure (2-Way Undivided Roadway)	10	EA	\$2,175.00	\$21,750.00
18	SP	Temporary Lane Closure (Multi-Lane Divided Roadway)	20	EA	\$2,200.00	\$44,000.00
19	SP	Temporary Lane Closure Shift (Multi- Lane Divided Roadway)	5	EA	\$1,980.00	\$9,900.00
20	SP	Additional Flaggers	100	HR	\$45.00	\$4,500.00
21	1205	Paint Pavement Marking Lines, 4"	5000	LF	\$7.00	\$35,000.00

$T \cap T \wedge I$	BID FOR PROJECT	\$2 1/2 530 00
IOIAL	BID FOR PROJECT	ΦΖ,14Ζ,330.00

Contractor: Site Development Corporation	
Mailing Address: P.O. Box 397, Cliffside, NC 28024	
Phone: 828-371-2017	_Federal ID:20-4629599
Contractor License Number (If Available): 60	801
Authorized Agent: Donald A. Southards	Title: President
Contact Email: asouthards@sitedevelopmentc	orp.com
Signature: Domld f. By hale Propeller	Date: 10/31/2024

ID/IQ PROPOSAL - EMERGENCY

DATE AND TIME OF BID OPENING: OCTOBER 31, 2024 AT 2:00 PM

CONTRACT ID: D13POC.D1.5000.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TROPICAL STORM HELENE

COUNTY: BURKE, MITCHELL, MCDOWELL & RUTHERFORD

TIP NO.: NONE

MILES: N/A

ROUTE NO.: VARIOUS PRIMARY & SECONDARY ROUTES

LOCATION: DISTRICT 1 WIDE

TYPE OF WORK: EMERGENCY ON-CALL ASPHALT PAVING & ASPHALT

PAVEMENT REPAIR

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

HERITAGE GRADING & PAVING INC.

NAME OF BIDDER

222 FERGUSON HILL RD. BURNSVILLE, NC.28714 (PO 1076)

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: D13POC.D1.5000.01

TIP Number: N/A

FA Number: Tropical Storm Helene

WBS Element: Various

ITEM	SECT	DESCRIPTION	QTY.	UNIT	UNIT PRICE	AMOUNT BID
1	SP	Shoulder Construction	5	SMI	\$4,900.00	\$ 24,500.00
2	SP	Shoulder Reconstruction	5	SMI	\$3,900.00	\$19,500.00
					\$32.00	\$8,000.00
3	SP	Aggregate Shoulder Borrow	250	TON	\$ 1,500.00	\$ 6,000.00
4	535	Conditioning Existing Base	4	MSY	\$ 40.00	\$10,000.00
5	545	Incidental Stone Base	250	TON	\$ 20.00	\$ 20,000.00
6	SP	Incidental Milling Case 1 (0 to 500 SY) Incidental Milling Case 2 (over 500	1000	SY	\$ 15.00	\$ 37,500.00
7	SP	SY) Asphalt Conc Base Course, Type	2500	SY		
8	SP	B25.0B - Case 1 (under 100 tons)	500	TON	\$ 290.00	\$ 145,000.00
9	SP	Asphalt Conc Base Course, Type B25.0B - Case 2 (100 to 500 tons)	1000	TON	\$ 275.00	\$ 275,000.00
10	SP	Asphalt Conc Base Course, Type B25.0B - Case 3 (over 500 tons)	2500	TON	\$ 160.00	\$ 400,000.00
11	SP	Asphalt Conc Surface Course, Type S9.5B - Case 1 (under 100 tons)	500	TON	\$ 295.00	\$147,500.00
12	SP	Asphalt Conc Surface Course, Type S9.5B - Case 2 (100 to 500 tons)	1000	TON	\$ 280.00	\$ 280,000.00
13	SP	Asphalt Conc Surface Course, Type S9.5B - Case 3 (over 500 tons)	2500	TON	\$ 165.00	\$ 412,500.00
		Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 1 (0 to			\$ 300.00	\$ 75,000.00
14	SP	250 tons) Asphalt Conc Surface Course, Type	250	TON	Ф 200 00	¢1.40.000.00
15	SP	S9.5B (Leveling Course) - Case 2 (over 250 tons)	500	TON	\$ 280.00	\$140,000.00

16	SP	Patching Existing Asphalt Pavement	250	TON	\$ 330.00	\$ 82,500.00
17	SP	Temporary Lane Closure (2-Way Undivided Roadway)	10	EA	\$ 2,000.00	\$ 20,000.00
18	SP	Temporary Lane Closure (Multi-Lane Divided Roadway)	20	EA	\$ 4,000.00	\$ 80,000.00
19	SP	Temporary Lane Closure Shift (Multi- Lane Divided Roadway)	5	EA	\$ 2,000.00	\$ 10,000.00
20	SP	Additional Flaggers	100	HR	\$ 40.00	\$ 4,000.00
21	1205	Paint Pavement Marking Lines, 4"	5000	LF	\$ 5.60	\$ 28,000.00

Contractor: Heritage Grading & Paving Inc.	
Mailing Address: PO 1076 Burnsville, Nc. 28714	
Phone: (828)682-9808	Federal ID: <u>56-1707773</u>
Contractor License Number (If Available):_	56710
Authorized Agent: Jerry Mark Ledford	Title: President
Contact Email: Hgpinc72@gmail.com	
Signature: July Work Julywo	Date: 10/31/2024

TOTAL BID FOR PROJECT: \$2,225,000.00

ID/IQ PROPOSAL - EMERGENCY

DATE AND TIME OF BID OPENING: OCTOBER 31, 2024 AT 2:00 PM

CONTRACT ID: D13POC.D1.5000.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TROPICAL STORM HELENE

COUNTY: BURKE, MITCHELL, MCDOWELL & RUTHERFORD

TIP NO.: NONE

MILES: N/A

ROUTE NO.: VARIOUS PRIMARY & SECONDARY ROUTES

LOCATION: DISTRICT 1 WIDE

TYPE OF WORK: EMERGENCY ON-CALL ASPHALT PAVING & ASPHALT

PAVEMENT REPAIR

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Bryant's Land & Development Industries Inc NAME OF BIDDER

159 Depot St Burnsville NC 28714

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: D13POC.D1.5000.01

TIP Number: N/A

FA Number: Tropical Storm Helene

WBS Element: Various

ITEM	SECT	DESCRIPTION	QTY.	UNIT	UNIT PRICE	AMOUNT BID
1	SP	Shoulder Construction	5	SMI	5,200.0	26,000.00
2	SP	Shoulder Reconstruction	5	SMI	4,100,10	20,500,00
3	SP	Aggregate Shoulder Borrow	250	TON	34.00	8,500.00
4	535	Conditioning Existing Base	4	MSY	5,840,0	23,360,00
5	545	Incidental Stone Base	250	TON	56.00	14,000,00
6	SP	Incidental Milling Case 1 (0 to 500 SY)	1000	SY	24.60	24,600.00
7	SP	Incidental Milling Case 2 (over 500 SY)	2500	SY	21.20	53000.00
8	SP	Asphalt Conc Base Course, Type B25.0B - Case 1 (under 100 tons)	500	TON	353,30	176,650,00
9	SP	Asphalt Conc Base Course, Type B25.0B - Case 2 (100 to 500 tons)	1000	TON	241.00	241.000.1D
10	SP	Asphalt Conc Base Course, Type B25.0B - Case 3 (over 500 tons)	2500	TON	180.00	450,000,00
11	SP	Asphalt Conc Surface Course, Type S9.5B - Case 1 (under 100 tons)	500	TON	365,00	182,500 ⁰⁰
12	SP	Asphalt Conc Surface Course, Type S9.5B - Case 2 (100 to 500 tons)	1000	TON	251.00	251,000.00
13	SP	Asphalt Conc Surface Course, Type S9.5B - Case 3 (over 500 tons)	2500	TON	195.00	487 500W
14	SP	Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 1 (0 to 250 tons)	250	TON	30400	
15	SP	Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 2 (over 250 tons)	500	TON	235,50	76,000.00 117,750.00

16	SP	Patching Existing Asphalt Pavement	250	TON	324.00	81,000.00
17	SP	Temporary Lane Closure (2-Way Undivided Roadway)	10	EA	1,980.00	19.800.00
18	SP	Temporary Lane Closure (Multi-Lane Divided Roadway)	20	EA	2,140,00	43,800,00
19	SP	Temporary Lane Closure Shift (Multi- Lane Divided Roadway)	5	EA	2,300,00	11,500,00
20	SP	Additional Flaggers	100	HR	41.00	6,100,00
21	1205	Paint Pavement Marking Lines, 4"	5000	LF	5.80	29,000.0D

一个大大大大大大大大大大大大大大大大大大大大大大大大大大大大大大大大大大大大
Contractor: Bapats hard! Development Industries Inc
Mailing Address: 159 Depot St Burroville NC 28714
Phone: 828-678-9966 Federal ID: 56-2191500
Contractor License Number (If Available): 57303
Authorized Agent: Chrs Byers Title: VP
Contact Email: Chyers & bryant Idi. Com Signature: Date: 10/31/24

TOTAL BID FOR PROJECT: \$ 3,342,560.00

ID/IQ PROPOSAL - EMERGENCY

DATE AND TIME OF BID OPENING: OCTOBER 31, 2024 AT 2:00 PM

CONTRACT ID: D13POC.D1.5000.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TROPICAL STORM HELENE

COUNTY: BURKE, MITCHELL, MCDOWELL & RUTHERFORD

TIP NO.: NONE

MILES: N/A

ROUTE NO.: VARIOUS PRIMARY & SECONDARY ROUTES

LOCATION: DISTRICT 1 WIDE

TYPE OF WORK: EMERGENCY ON-CALL ASPHALT PAVING & ASPHALT

PAVEMENT REPAIR

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

EMERY SEALCO INC

NAME OF BIDDER

P.O. BOX 814 HADEN, NC 28704

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: D13POC.D1.5000.01

TIP Number: N/A

FA Number: Tropical Storm Helene

WBS Element: Various

ITEM	SECT	DESCRIPTION	QTY.	UNIT	UNIT PRICE	AMOUNT BID
1	SP	Shoulder Construction	5	SMI	18,000.00	90,000.00
2	SP	Shoulder Reconstruction	5	SMI	12,000,00	60,000,00
3	SP	Aggregate Shoulder Borrow	250	TON	50.00	12,500.00
4	535	Conditioning Existing Base	4	MSY	5,000.00	20,000-00
5	545	Incidental Stone Base	250	TON	45.00	16,250.00
6	SP	Incidental Milling Case 1 (0 to 500 SY)	1000	SY	30.00	30,000.00
7	SP	Incidental Milling Case 2 (over 500 SY)	2500	SY	10.00	50,000.00
8	SP	Asphalt Conc Base Course, Type B25.0B - Case 1 (under 100 tons)	500	TON	305.00	152,500.00
9	SP	Asphalt Conc Base Course, Type B25.0B - Case 2 (100 to 500 tons)	1000	TON	270.00	270,000.00
10	SP	Asphalt Conc Base Course, Type B25.0B - Case 3 (over 500 tons)	2500	TON	175.00	437,500.00
11	SP	Asphalt Conc Surface Course, Type S9.5B - Case 1 (under 100 tons)	500	TON	375.00	187,500.00
12	SP	Asphalt Conc Surface Course, Type S9.5B - Case 2 (100 to 500 tons)	1000	TON	300.00	300,000.00
13	SP	Asphalt Conc Surface Course, Type S9.5B - Case 3 (over 500 tons)	2500	TON	200.00	500,000.00
14	SP	Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 1 (0 to 250 tons)	250	TON	225.00	56,250
15	SP	Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 2 (over 250 tons)	500	TON	225.00	112,500.0

16	SP	Patching Existing Asphalt Pavement	250	TON	300.00	75,000.00
17	SP	Temporary Lane Closure (2-Way Undivided Roadway)	10	EA	3,500,00	J5,000.00
18	SP	Temporary Lane Closure (Multi-Lane Divided Roadway)	20	EA	4,500.00	90,000.00
19	SP	Temporary Lane Closure Shift (Multi- Lane Divided Roadway)	5	EA	4,500.00	27,500.00
20	SP	Additional Flaggers	100	HR	45.00	4,500.00
21	1205	Paint Pavement Marking Lines, 4"	5000	LF	6.00	30,000.00

TOTAL BID FOR PROJECT: 💲	2,59	52,	000	.00
--------------------------	------	-----	-----	-----

Contractor: EMERY SEARCO, INC.				
Mailing Address: P.O. SOX 814 ARDEN, WE 28707				
Phone: 978 - 684 - 1146 Federal ID: 56 - 1411319				
Contractor License Number (If Available): 65832				
Authorized Agent: Clinto Emeny Title:				
Contact Email: EMERYASP HATE + CATT.NET				
Signature: Date: 10/31/24				

ID/IQ PROPOSAL - EMERGENCY

DATE AND TIME OF BID OPENING: OCTOBER 31, 2024 AT 2:00 PM

CONTRACT ID: D13POC.D1.5000.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TROPICAL STORM HELENE

COUNTY: BURKE, MITCHELL, MCDOWELL & RUTHERFORD

TIP NO.: NONE

MILES: N/A

ROUTE NO.: VARIOUS PRIMARY & SECONDARY ROUTES

LOCATION: DISTRICT 1 WIDE

TYPE OF WORK: EMERGENCY ON-CALL ASPHALT PAVING & ASPHALT

PAVEMENT REPAIR

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

B & N Grading, Inc.

NAME OF BIDDER

P.O. Box 790496, Charlotte, NC 28206

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

D13POC.D1.5000.01

TIP Number:

N/A

FA Number:

Tropical Storm Helene

WBS Element:

Various

Description:

Emergency On-Call Asphalt Paving & Asphalt Pavement Repair

ITEM	SECT	DESCRIPTION	QTY.	UNIT	UNIT PRICE	AMOUNT BID
1	SP	Shoulder Construction	5	SMI	\$14,187.08	\$70,935.40 Km
2	SP	Shoulder Reconstruction	5	SMI	\$18,387.08	\$91,935.40 LAW
3	SP	Aggregate Shoulder Borrow	250	TON	\$191.79	\$47,947.50 hw
4	535	Conditioning Existing Base	4	MSY	\$10,343.76	\$41,375.04 CAN
5	545	Incidental Stone Base	250	TON	\$250.72	\$62.680.44 FW
6	SP	Incidental Milling Case 1 (0 to 500 SY)	1000	SY	\$72.86	\$72.860.00 LP \$72.858.97 XW
7	SP	Incidental Milling Case 2 (over 500 SY)	2500	SY	\$72.86	\$182,150.00 pp \$182,147.41 ANN
8	SP	Asphalt Conc Base Course, Type B25.0B - Case 1 (under 100 tons)	500	TON	\$450.47	\$255,233.26 / MW
9	SP	Asphalt Conc Base Course, Type B25.0B - Case 2 (100 to 500 tons)	1000	TON	\$413.93	\$413,930,00 pp \$413,926.52 haw
10	SP	Asphalt Conc Base Course, Type B25.0B - Case 3 (over 500 tons)	2500	TON	\$395.66	\$989.150.00 MW
11	SP	Asphalt Conc Surface Course, Type S9.5B - Case 1 (under 100 tons)	500	TON		\$229.873.26 Aw
12	SP	Asphalt Conc Surface Course, Type S9.5B - Case 2 (100 to 500 tons)	1000	TON	\$403.37	\$403,370.00 pp \$403,370.52
13	SP	Asphalt Conc Surface Course, Type S9.5B - Case 3 (over 500 tons)	2500	TON	\$412.77	\$1,031,925,00/ \$1,031,916.29
14	C.D.	Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 1 (0 to	2 344			\$114,937.50
14	SP	250 tons) Asphalt Conc Surface Course, Type S9.5B (Leveling Course) - Case 2 (over	250	TON	\$459.75	\$14,036.63 /hw
15	SP	250 tons)	500	TON	\$428.43	\$214,213.26

16	SP	Patching Existing Asphalt Pavement	250	TON	\$487.59	\$121,897.50p
17	SP	Temporary Lane Closure (2-Way Undivided Roadway)	10	EA	\$4,369,58	\$43,695.800 \$43.695.75
18	SP	Temporary Lane Closure (Multi-Lane Divided Roadway)	20	EA	\$4,369.58	\$87,391.60 Jan
19	SP	Temporary Lane Closure Shift (Multi- Lane Divided Roadway)	5	EA	\$4,476.15	\$22,380.75
20	SP	Additional Flaggers	100	HR	\$139.20	\$13.920.00
21	1205	Paint Pavement Marking Lines, 4"	5000	LF	\$8.70	\$43,500.00

Contractor: B&N Grading, Inc				
Mailing Address: P.O. Box 790496, Charlotte, NC 282	06			
Phone: _(704) 910-4273	Federal ID: <u>27-2371677</u>			
Contractor License Number (If Available): North Carolina 75683				
Authorized Agent: George Mitch Walker	Title: General Manager			
Contact Email: Mitch abrigrading.com				
Signature: / h Walkn	Date: <u>10/31/24</u>			

TOTAL BID FOR PROJECT: \$4,525,275.28 \$4,525,306,49